Урок № 9-10 Дифференцированный зачет

Инструкция!!! Уважаемые студенты группы 3-21(з)! Выполненные задания отправить в «ВКонтакте» https://vk.com/id38549208 или на электронную почту pretty.anna12@yandex.ru до 8.00 следующего дня (29.09.20).
Документ подписать: Фамилия студента, группа, английский язык,  28.09.20
I. Грамматика. Выберите правильный вариант:

1. My father is … good engineer.
a) the    b) a     c) -      c) an
2. The Earth moves … Sun
a) -    b) a    c) the      d) an
3. They … about it yesterday.
a) spoke     b) speaked      c) speak        d) will speak
4. I … just finished my work.
a) has      b) did       c) was       d) have
5. He was born … fourth of July.
a) In the       b) on the       c) on       d) at the
6. She … swim very well.
a) should      b) must     c) may      d) can
7. Plural for the word “Woman”
a) women   b) womans       c) weman       d) womens
8. Whose bag is it? – It is … .
a) ours       b) our     c) mine      d) our’s
9. Your test is good, but mine is … .
a) better     b) badder      c)gooder    d) well
10. There … twelve people in the room.
a) are     b) am    c) he      d)is

II. Заполните пропуски словами из рамки (используйте каждое слово один раз):

	Words, banknotes, coins, currency, English, sterling, are, face, is, England, pence, equal





       The official ___________ of the United Kingdom is still keeping the pound ___________ but the possibility of joining the euro ________ being widely debated. The pound sterling is ___________ to one hundred pence. 
        English ____________ are issued by the Bank of __________. As to coins they are minted also by this state bank.
       There ___________ banknotes of following denominations: £1, £20, £5, £50, £10, £100.
      The following _________ are in circulation: halfpenny, one penny, two pence, five  _________, ten pence, fifty pence.
       On the __________ face of ___________ banknotes one can read the denomination given both in figures and on __________.

Критерии оценки:
Отметку «5» - получает обучающийся, если его письменная работа в полном объеме соответствует учебной программе (1-2 ошибки).
 
Отметку «4» - получает обучающийся, если его письменная работа в общем соответствуют требованиям учебной программы (3-4 ошибки).

Отметку «3» - получает обучающийся, если его письменная работа в основном соответствуют требованиям программы (имеются 5 ошибок).

Отметку «2» - получает обучающийся, если его письменная работа частично соответствуют требованиям программы, имеются существенные недостатки и грубые ошибки (6 и больше ошибки в упражнении).





